| | | | | iaigini spara | |
| | | | | (el AP | |
| | | 30410 | | | |
PT = | 900 4 850 900 5100 900 5100 900 5 100 900 4 860 900 |
E’???Z 200 ! 6 000 ! 6 000 ! 6 000 ! 6 000 ! 6 000 210! 236/ 1=
386,05 B8r.20
1 1 1 1 1 9 070 0 386,05
APOJENI NA OBJEKT SO 102
N AAAAAA A’AAAA'AAAA'AAAI&AAAA’AA v ; O v .
(oI5 |———F—————————————— —— =S ———————— R~ ——————————————— A —— M —————————————————— XA = -+ — ()
o " o
(/4 / 5/ /e | l | o Dila alénl' spara
A P, 5 | A 4 | i | A 4 00O J — I'igzoIaec%vg%xtrudovaného
| __| —1s | olystyrenu XPS 20 mm)
HH =] | HH =] | ! o o | 2 HH =] |
-0,200 -0,200 DL NEKTANL &S i -0,200
W = (M _ | i | [RUBKA @ 504 mm . . .
SH =] SH = L | SH. = I ) 0
W g -1 1400 g 5 g g . -1 1400 | !_ -------------- —! 8 | i o -1 17,;0 . . f f g g g 4
W2 SH. = ik i SH. = i 4 = B 2 o SH. = SV i i
Wz -1.500] A DAT -1.500. | N NINJEKTAZNI -1.850. W04 YA/
W2 7 | o B TRUBKA @ 50/4 mm T i/
W G Q i :m; G/ 000
S g ANNAR o INJEKTAZNI INJEKTAZNI L INJEKTAZNI - | I SH = INJEKTAZNI ' 3P
o © | 8 TRUBKA @ 50/4 mm | TRUBKA @ 50/4 mm | TRUBKA @ 504 mm A L TRUBKA @ 50/4 mm | & 2
3 o e o
| - HH = | - HH = | - HH = ° ' i g '3 HH = - |
| -0,200 | -0,200 | -0,200 2222 weaini 0 R T -0,200 |
o SH= | SH= | SH= H.H.= ~ T T T| TRUBKA @ 504 mm | =l ! SH= ]
| -1,400 | -1,400 | -1,400 -0,200 || o | 0 | -1,400 |
| SH= | SH= | SH= SH = .y 2175 “ﬁ 475 1625 | 250| || 575 SH = |
I} - - -1,400 B | S | ol
| -1.500 | -1.500 | -1.500 - ‘ : a25| i s S 150 {100 -1.500 |
| | | I A |
| | - | | i ! S.F ! | L
o 3 1o i | 600 |
— |-~ K- —— <1 5 - J’ b8
Q N e - e AN N — . === N - g I
onrl : I B R P e
& 3 ! 0
| /[ / | | | L, | /[ / -
| S H.H. = | I | | 3 T HH = NE
- | - -0,200 | | | 2£7§ = ' 3025 | -0,200] B E
S 8 3 | o SH =] | o INJEKTAZNI | o INJEKTAZNI | .0.200] INJEKTAZNI | SH.=] o INJEKTAZNI W E 3 8
T = -1.400 TRUBKA @ 50/4 mm TRUBKA @ 50/4 mm TRUBKA @ 50/4 mm ’ TRUBKA @ 50/4 mm -1.400 TRUBKA @ 50/4 mm 3 e
| - SH. =) | | | SH=] | SH. =] N E
| -1,500 | H | | -1.600 | -1,500 BE
< N
| S | | | | |
o N - 22: N o
R T B g e bl -
(2]
A 4 i =
| = | | | | — |
| = HH. =] | 6 | | | < o - |
| _01?00 | 20 | | | -0’?00 |
SH.= - =M. =
| N | | | | 11,400 |
| = | | | | SH. = |
| -1,500] | | | | -1.500 |
| | | | | | 3
| o | o | o | o | o | Q
S o | o INJEKTAZNI | INJEKTAZNI | INJEKTAZNI | INJEKTAZNI | INJEKTAZNI | o 8
o & | 8 TRUBKA @ 50/4 mm | TRUBKA @ 50/4 mm | TRUBKA @ 504 mm | TRUBKA @ 50/4 mm | TRUBKA @ 50/4 mm | & o
© <t ©
| | | | | |
| SH= | | | | SH =] |
| -1.500 | | | | -1.500 |
| SH = | | | | SH = |
100/ | 900 100 -1,4004 650 100/| 1000 4 900 100/ | 900 100 4 900 100/ | 900 100 4 900 100] | 900 100 -1,4001 4 660 100/ | 900 PO
HH. = HH. =
: 10,200 \ : : 2200 100, 900 100, é 600 100 : 10.200] :
| S DR | | S | DR | i
2 | - | | 3 8 | |
3 < S S o 3
&1 - -5t - ———— T3-—g———— R —————————————————— Kt —— ()
o o -
& 8 | o Yo L
| ) | | | 58
PT = 200, | 6 000 | 6 000 | 6 000 | PT = 4 obo = 6 000
896,28 BEV.22 | |
o 900 4 850 3 394 2 606 900 5 100 900  |opsne 2400 | 900 7 560 900 |
S00,Ud S00,U9 [ [
21050 | 9 360 |
30 410 | |
o HH = HH = |
| B -0,200 -0,200 - |
| SH = SH. = ]
o -1,400 -1.400 T
8 | S.H. = P S.H. = | o
8 o1 500 INJEKTAZNI eog o 8
o © | S TRUBKA @ 50/4 mm ’ | 2 o
N | © | -
N~
| |
| |
| _ |
SH =
| -1.500 |
| SH. = |
| -1,400/ |
100]| 900 100 7 360 HH = 100/ | 900 1p0
| -0,200] \ |
4 | = —= | N
S | - | S
& (R —-8 B (O
—_— e — —_— —_ — _—— —— a _________________________ | _— o
g S
| | | PT. = ‘ - | [ PF—=
| | | BgT.32 200 | l 8 950 2104 fU‘B-V.ﬁZ
| | | 906,U5 900 | 7 560 900 | Pob,UU
| | | | o 360 | |
|
6 000 [ 6 000 [ 6 000 6 000 440 ‘ |

t 6 000




